Exercise 6: Transcribing eye gaze in “Beets”

In the “Beets” video clip, Karen offers her housemate Jen some beets. Here is the transcript:

01	KAR:	Beets:?
02	 	(1.0) 
03	JEN:	Yeah.
04	 	(0.2)
05	KAR:	>Really?<
06	JEN:	ºYeah.º 
07 		(ººThank youºº)
08	 	(ºº [ ºº)
09	KAR:	    [º(   )º
10	 	(0.2)
11	KAR:	(ºPopojaº)
12		(1.0)


Use the Goodwin’s notation to transcribe Karen’s and Jen’s eye gaze during lines 1-6. Consider advantages and disadvantages of this system for capturing participants’ visible actions.

Answer key:

The transcript uses modified Goodwin’s conventions; “p” stands for “plate.”

		...___JEN
1	KAR:	Bee:t?
 	JEN:	   ...p 

2	 	----------(1.0)
	KAR: 	JEN_______
	JEN:	p______.KAR


		____KAR
3	JEN:	Yeah.
	KAR:	__._JEN

4	 	-(.)
	JEN:	_KAR
	KAR:	_JEN

		________JEN
5	KAR:	>Really?<
	JEN:	KAR..__p

		______p
6	JEN:	ºYeah.º 
	KAR:	._____p

[end of answer key]
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